& (2000) AFSIOHEH] 201 (2400) F=EHL XIS AFSIOHE: &F:(2410) S Al A& 2t MIE:(2411) S AL HI & 22 HIAISE: (120) 2 A= A Y| 2 H][ceHA]

2 = S i)
o & & At = 0 z
T2 N MAE = o & M| = A
2000 [ 1,303,800 Z J| 0 1,127,860]
IR EIG 15,605,599 20,000,388 14,394,789 [S 0 = 7 0 11,041,939]
2400 [ 1,303,800 Z p) 0 1,127,860]
FEHQ XX ALS HEH 15,605,599 20,000,388| 4,394,789 [S 0 2 H 0 11,041,939]
2410 (2 300,000 Z 0 Il 0 270,000]
T A= 2 8,829,280 9,157,232 A327,952| [S 0 = 0 0 8,259,280]
2411 (= 0 2 0 Il 0 270,000]
TAIHE 2L 5,745,280 5,775,165 ~29,885 [S 0 = 0 0 5,475,280]
100
Z A0l & 111,320 142,365 A31,045
120
ZNEA 111,320 142,365 A31,045
201
U2 Y 36,060 67,545 31,485
36,060 67,545 A31,485/01 LBy
Oget42Y| 11,400
08222 ¢ HA 760
o=Rd+g 11,200
OZ & d 7,300
OAlZZHIS XY 5,400
202
01t 19,200 25,020 5,820




& (2000) AFSIOHEH] 201 (2400) F=EHL XIS AFSIOHE: &F:(2410) S Al A& 2t MIE:(2411) S AL HI & 22 HIAISE: (120) 2 A= A Y| 2 H][ceHA]
1t = "SI = B = ] Il
o & & At = 0 z
a2 8 Mg MAE == o &b oH = A
19,200 25,020 AN5,820/01 =W HI
OZANHE HRFX 20,000& x 92! x 60 = 10,800
OEZAIAHE gRFA 20,0003 x 492! x 60 = 4,800
OZAIEH g2FA 20,000& x 32! x 60 = 3,600
203
2 =& 33,260 28,200 5,060
3,000 3,000 0101 DI A2HLRF=EH|
o= # 3,000,000& x 1@ = 3,000
26,000 21,000 5,000|03 AIMZ=&HR2FEH|
OXMETAXNE ¥ =82dH RFA
20,000,000& x 1&# = 20,000
OZAZ=H#S MEH 24 5,000,000& x 1& = 5,000
OZA HEHR =& 1,000,000& x 1& = 1,000
4,260 4,200 60|04 EASIHR=AH|
OEA29HI(30010]4) 355,000& x 128 = 4,260
204
MNP H 22,800 21,600 1,200




X (2000) AFBI DN HI 2 (2400) FE L XIS AFSI N BH: (2410) S Al HIE 22 Mg (2411) Al H = 2t el HIAIEE: (120) 2 AL X 2 ) 2 (oA
ok = 7S IS I == e m}
Gil &b &t = J| ES
I 2 S MIE L AIAIE =2 O]l &b OH = A
]
5,400 5,400 0/01 I A=A
o= 350,0009 x 192! x 122 = 4,200
Ot = 100,0008 x 19! x 122 = 1,200
17,400 16,200 1,200/03 EF YR 2aHE =]
Omel g = 50,0002 x 299! x 12&€ = 17,400
200 [=2 0 = 0 2l 0 = 270,000]
AR Ol A 5,633,960 5,632,800 1,160 [E 0 = 0 0 Al 5,363,960]
210 [= 0 = 0 2l 0 = 270,000]
HXALY 543,000 503,600 39,400| [E 0 = 0 0 Al 273,000]
401
NE=L[==] 543,000 503,600 39,400
CHH
540,000 500,000 40,000(01 Al&H|
OZHOIS JIRIIAS (A5, EHA)
540,000,0002 x 1& = 540,000
() 270,000
3,000 3,600 AB00(03 A& HYI
OZHOIS JIRIIAS (85, HA)
3,000,000 x 1& = 3,000




ZH:(2000)AFSIOHERH]  24:(2400) =S XIHALSI N & :(2410) S AIHI &l 2t Mg (2411) AL B 2t e NIAIES: (220) KR ALY 2 ][ Y]

i = SIS == S i}
of &b o AF 2 ol =
.28 HE. HAE = o A % = oA Y
220
AHHIAFS 5,090,960 5,129,200 A38,240
201
2ot 55,960 34,200 21,760
55,960 34,200 21,760|01 B+t H]
OLer+2H| 45,400
0 A2 ZNB(ZAHZH)
2,500,000& x 2HA = 5,000
0o EXNEEHA JI2HY 01MS)| +42
180,0009! x 1008 = 18,000
o EXOIZAH =&l &2 11,200
. Eud(Ze) 350,000& x 448 x 83 = 11,200
0 B2 EXOI2NESol L3 11,200
. Eu(Ze) 350,000& x 424 x 8J = 11,200
og X =2 10,560
0 SADI elAaz 300,000 x 20H x 128 = 7,200
0o ZEIEI| 2lAB 140,0009 x 204 x 128 = 3,360




ZH:(2000) AFSIDHEEH]  2+:(2400) LU XS AFSIOHEE & :(2410) S Al HI & 2t 2] KIgh: (2411) & Al H &l 22| NIAIE:: (220) KFAIAFS =2 H][e:dH]
2 = F I B m
oo ul N AF = ol =
R ENLE = of A A | = oA
207
o1 oj ety 30,000 45.000 A 15,000
30,000 5.000 15.000/02 & AFIHELH]
OSZAHEHZ(AA2) NEDA BALITH =4
1,500,0008 x 204 = 30,000
301
QutEAD 5.000 0 5.000
5.000 0 5.000/12 JIEFR AL
OEAZD Ha 5.000.0008 x 18] = 5.000
403
THEI CHI = 5,000,000 5.000.,000 0
T=ol A
5,000,000 5.000.,000 002 2IIZS BN AL ]
O2% M8 MEAA AL
5.000,000,0002 x 18 =  5.000,000
2412 (2 300,000 2 0 7l 0 = 0]
X o e 3.076.000 3.382.067|  ~306,067 [= 0 = 0 0 Al 2.776.000]
100
24 ALY A 31,000 0 31,000
120
2 AR A Y| 31,000 0 31,000
201
Qur2 o] 16.600 0 16.600
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X1 (2000) AFSIOHEEH] 2 (2400) Z=EHLU XIS AFSI N BH: (2410) S AIHIE 2el MIE: (2412) X oK e RIMIE: (120) 2 A = A H 2 (oA
ok = 7S IS I == e m}
o & & At = 0 z
I 2 S MIE L AIAIE =2 O]l &b OH zZ AU
16,600 0 16,600/01 LBt dy|
OgBta2H| = 13,000
o= & = 3,600
202
o:15]] 14,400 0 14,400
14,400 0 14,400 01 2LH0IH
OXSHY A=A 20,0002 x 421 x 60Y = 4,800
OJIPAI 82 AREX
20,0002 x 491 x 60Y = 4,800
Ozsze 9% 20,0002 x 491 x 60Y = 4,800
200 [=2 300,000 =# 0 Jl 0 < 0]
AR Ol & 3,045,000 3,382,067 N337,067| [ 0 = 0 0 Al 2,745,000]
210 [=2 300,000 =# 0 I 0 = 0]
HBXALY 430,000 0 430,000| [ 0 =2 0 0 Al 130,000]
401
NE=LE ! 430,000 0 430,000
CHH
430,000 0 430,000/01 Al&H|
ONBE LYUSAIAEH = 430,000,000 x 13 = 430,000
(=) 300,000




1(2000) AtSIOHEEH] 2

(2400) =12 XIHALSI DN &F:(2410) S AIHI Bl 2t

NI (2412) XIS

HIAIE: (220) XEAIAHS

i = SIS == S i}
ok o At Il ES
(B MIE . MIAIE = Of & | = oA 2
220
AHHIAFS 2,615,000 3,382,067 AT67,067
201
2ot 900,000 702,000 198,000
900,000 702,000 198,000(01 LBt Al
02322 ¢ MA 900,000
0 JI2 - Bots & 75,000,000& x 128 = 900,000
401
ANEHI R 1,715,000 2,680,067 A 965,067
CH|
1,710,000 2,670,400 A960,400|01 Al&HI
OJI2(EeHE |24 SopH <
60,0002 x 20,0008 = 1,200,000
OOFAHSAIE =Y 25,000,000 x 10w = 250,000
g5 -9 -3 J)I=2S 1,000,000& x 1009 2 100,000
OJlI2s ItE =+ 2,000,000& x 20004 = 40,000
OJEA JI2SAIH 3,000,000& x 408 = 120,000
5,000 9,667 A4,667|03 Al& = THHI




ZH:(2000)AFSIOHERH]  24:(2400) =S XIHALSI N & :(2410) S AIHI &l 2t NI (2412) XIS NIAIES: (220) KR ALY 2 Flle=:dE]

i = M| 2| oy i}
o & = & & 8] ES
X 23 HIE HIAIE = of A % | = oA
OJNZ(2OAS)AIL 5,000,000 x 1& = 5,000
2413
S AICIRFO! 8,000 0 8,000
100
2 A0 A 8,000 0 8,000
120
2 AN A 8,000 0 8,000
201
Ur2 oty 2,000 0 2,000
2,000 0 2,000(01 Ler2y|
o= & = 2,000
202
o4t 6,000 0 6,000
6,000 0 6,000(01 =LH0IH
ONZAXNEY PREX 20,0002 x 501 x 602 = 6,000
2420
A=zl 233,540 132,034 101,506
2421
A=zl 233,540 132,034 101,506
100
2 A0 AF 75,820 72,374 3,446
120
2 AR AY| 75,820 72,374 3,446




ZH: (2000)AtSIOHERH] 2t:(2400) =S XIHALSIOHE & :(2420)H F 22 Mgt (2421)2A 5 22| NIAIEE: (120) B & & A H] 2 FH][ceEE]
i = SIS == S i}
o & & At = 0 z
.2 B ME . MAME = Of & | = oA 2
201
2 Bt23AY| 36,520 34,434 2,086
36,520 34,434 2,086|01 LBt
Oget=2t| = 18,480
osgay = 9,240
Oz & dl = 8,800
202
04 I 19,600 17,640 1,960
19,600 15,840 3,760/01 =L
OAZ2UE B X &0l 20,0008 x 99! x 403 = 7,200
ORsdELY X0l 20,000& x 421 x 308 = 2,400
OAESUE L2 ol
20,0008 x 291 x 403 = 1,600
OAs48s &8Xlel 20,000& x 42! x 308 = 2,400
OggEe 83¢s L XS
20,000& x 62! x 303 = 3,600
OAZF 0 - 5015 452 48
50,000& x 221 x 228 x 128 = 2,400




& (2000) AFSIOHEEH] 201 (2400) F=EHL XIS AFSIOHE & (2420) A =22 Mg (2421) A =22 HIAIE : (120) 3 & & ZH| 2 H][oA:AH]
t = PSTRE I == e Im]
o & & At = 0 z
X 2B MELMAIE = o & = oA
203
AR =& 4,200 4,200 0
4,200 4,200 0104 EANSIHERFEH|
OB M29H|(302!0]6}) 350,000 x 12& = 4,200
204
XA 15,000 15,600 AB00
HI
1,200 1,200 0|01 RMIAR=RY|
oy & 100,000& x 121 x 12& = 1,200
13,800 14,400 AB00|03 SEY RS SH|
Ouarersy| 50,000& x 2321 x 12& = 13,800
301
Ut AR 500 500 0
500 500 0|12 JIEIE A2
OZRE #FAHIAN et 24
5,000& x 1004 = 500
200
AR O AF 157,720 59,660 98,060
220
KA AFRY 157,720 59,660 98,060
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Mg (2421)2d =2l

HIAIE: (220) XEAIAHS

=

ZH:(2000)AtSIOHEH] 2t
ni;
.2 e M MAlE

Ol

o

A

=
=2

Il

P

31,560

31,560

500,000& x 3742~

CAIH(ASS, AHX, A2
500,0002 x 32! x 374

SAHDI 2lAE

Zict Zeld)l elAzs

15,000& x 1,000

240,000

550,000

330,000

110,000&

330,000

1CH

1CH

1CH

1

1CH

X

X

X

X

X

128

128

128

128

128

21,000

6,000

1,500

4,500

15,000

18,720

2,880

6,600

3,960

1,320

3,960
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2 (2000) AFRIJHEEH] 2 (2400) ZEHL XSG ALS OHEE &h: (2420) A= 22| KIgt: (2421) 24 =2l MIAIE: (220) REMIAFS 2 H][oA:AH]
ok = oS IS R = HI m}
of & o AF 2 ol =
Xt B NIE HIMIE = of & | = A 2
207
oA IR EHH| 3,000 50,000 A47,000
3,000 50,000 A47,000(02 & AHHEH|
OQLEMNCS (M A=LHE)
3,000,000& x 12 = 3,000
402
OI2EXHE0| 100,000 0 100,000
&
100,000 0 100,000/01 QIZIR =L X
OAtEtel EARIDI(16MITH) 100,000,000& x 13l = 100,000
405
AHAES S| 15,000 1,500 13,500
15,000 1,500 13,500/01 XAt 2 EF =EH|
OO0IE Al A} 15,000,0002 x 1A = 15,000
2430 [= 1,000,000 =& 2,132,000 7| 0 = 851,600]
Z=EHZE| 5,735,235 10,172,026 N4, 436,791 (£ 0 = 0 XH 0 Al 1,751,635]
2431 [= 1,000,000 = 2,132,000 7| 0 = 851,600]
FE 2| 5,735,235 10,172,026 A4 436,791 (£ 0 = 0 X 0 Al 1,751,635]
100
A0 AF 64,644 50,300 14,344
120
AAE A 64,644 50,300 14,344
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&1 (2000) AFZIOHEEHI 24:(2400) FEARL XIS ALSIOHE & (2430) == 2tel NI (2431) =2t NIAIE: (120) B & = I 2 Flle=:dE]
2 = S i)
of oF o o 2 ol =
.2 Y N AMME = of & ¥ o= A
4,200 4,200 004 EA2SYRF=EHI
ORAM2gH|(302!015t) 350,000& x 128 = 4,200
204
AP EF 11,400 11,400 0
bl
1,200 1,200 001 MG HR=AH|
on = 100,0008 x 19 x 128 = 1,200
10,200 10,200 0|03 SEgF-d&SH|
o sl 50,000& x 17!l x 128 = 10,200
301
Yot A= 500 500 0
500 500 0/12 JIEtE2 &3
ORZE #HFAHIAN e 24
5,0002 x 1002 = 500
200 [= 1,000,000 & 2,132,000 2| 0 & 851,600]
AL Ol &F 5,670,591 10,121,726| 14,451,135 [S 0 = 0 M 0 Al 1,686,991]
210 [=2 1,000,000 & 2,132,000 2| 0 & 851,600]
BEAY 4,878,891 8,786,286| 23,907,395 [S 0 = 0 H 0 Al 895,291]
201
yere | 6.000 20,400 A 14,400
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X (2000) AFSI N HI 2+ (2400) FEH L XIS AFSI N Bt: (2430) =422 Mg (2431) =422 HIAIEE: (210) 2 & AL 2 (oA
o = S B im)
o & & At = 0 z
I 2 S MIE L AIAIE =2 O]l &b o = A
6,000 20,400 A14,400/01 LBt
OgBta2H| 6,000
0 2CHH =EA MNHAIY EBE2S MR
1,0008 x 2,0008 x 3& = 6,000
202
o H 8,000 0 8,000
8,000 0 8,000/01 2LHOIHI
OFNHEZ HEAIY SSXH U 2AARI BAHO
100,0009 x 20! x 42 x 103 = 8,000
301
UL A2 40,000 30,000 10,000
40,000 30,000 10,000/ 12 J|EtB A2
OsZ BIARFY| 2,000,0002 x 205 = 40,000
(&) 12,000
401
A&y YLs 4,824,891 8,735,886| 3,910,995
CHl
4,811,200 8,714,100  A3,902,900(01 Al&H]
O2EtH F=HEZ N AL
3,411,200,0008 x 14 = 3,411,200
() 2,132,000
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X+:(2000) AF3] W H & (2430) Z=EH 22 Mg (2431) =422 MIMIEE: (210) 2 ALY
! "SI H mi
o &k & pJ ES
I 2 S MIE L AIAIE O]l &b o = A
() 639,600
OsZ0I2(5H4+%) EHIALY
1,400,000,000 x 1HA = 1,400,000
(=) 1,000,000
() 200,000
13,691 21,786 A8,095(03 Al&EHYI
CHH F=HEA A ALY
3,411,200,0002 x 0.27/100 9,211
SEZ0I2(ot2%) EHIALY
1,400,000,0002 x 0.32/100 4,480
220
XHHIAFS 791,700 1,335,440 543,740
201
Ust2 A 8,400 17,940 29,540
8,400 17,940 A9,540(01 LBH2AH|
Ut 2 Y| 5,600
0 DEFTEHXY AAMANY MAIKE
130,000 x 20& 2,600
0 CleanOIIE BSFEH2dA HA
5,0008 x 100& x 6& 3,000
2L 2,800
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& (2000) AFSIOHEEH] 201 (2400) F=EHL XIS AFSIOHE SF:(2430) F=&4 22| MIgh: (2431) =& 22| MIAIE: (220) REMIAFS 2 H][oA:AH]
ok = 7S I R == m}
o e = & = 5] =
Xt B NIE HIMIE = of & ¥ = A 2
0 DS ZEAL|X A AARAG AlojAg
70,000& x 102! x 43| = 2,800
401
ANEHIZLE 2,400 600,000 AB97,600
thyl
2,400 0 2,400/03 A& E£0HY|
OAYGU L2IHOolH BE 42
100,000&! x 24 x 12& = 2,400
402
OI2EXHE0| 600,000 480,000 120,000
&
600,000 480,000 120,000(01 CIZ2t X282 X
OClean OIIE ZE=ei22| X
30,000,000 x 2002~ = 600,000
403
MXEHHS 180,000 225,000 A45,000
X0l &
180,000 225,000 A45,000(02 S| 2tSO0ICHSHCHEH AFE HI
02007 SESZTEH JHSAY
40,000,000 x 30= x 15/100 = 180,000
405
INFSE= =] 900 3,200 A2,300
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X (2000) AFSI N HI 2+ (2400) FEH L XIS AFSI N Bt: (2430) =422 Mg (2431) =422 KM (220) Kb AF 2 (oA
t = 7SI E R == Y Im]
o & & At = 0 z
Rt 2t 8 MIE. MIAIE =2 O]l &b OH = A 2
900 3,200 A2,300|01 XA 2EF S|
OCIXIEIHHEZHEZR HEAIY JIEBZR)
300,0009 x 30 = 900
2440 [= 3,800 = 0 Il 0 = 0]
X=ze| 423,424 508,786 N85,362| [E 0 =2 0 0 Al 419,624]
2441 [=2 3,800 = 0 Il 0 = 0]
X2 254,239 257,865 N3,626] [S 0 = 0 0 Al 250,439]
100
A A 183,059 154,173 28,886
120
AR A 183,059 154,173 28,886
201
Bt A Y| 128,219 102,657 25,562
128,219 102,657 25,562|01 LBr2 A Y|
OLpta2H| = 65,988
0O=ZZ222 % HA = 7,089
Oo=2dx4 = 3,150
O= & = 16,200
oY xt 2 = 24,552
OANA&ZHIS XY = 11,240

_18_




2 (2000) AFRIJHEEH] 2 (2400) ZEH L XIS ALS| OHEE & (2440) X & 22| Mg : (244X & 2HA HIAIE : (120) 3 & & ZH| 2 H][oA:AH]
ok = 7S I R == m}
o & & At = 0 z
Xt B NIE HIMIE = of & ¥ = A 2
202
o4 H| 25,440 23,436 2,004
25,440 23,436 2,004 /01 Z2LHAYI
OEXIHHEIIF AFS 22| B X XA
20,000 x 32 x 10 x 12& = 7,200
QAN ADEET X FA
20,000& x 221 x 10¥ x 12&€ = 4,800
ORSA SHYA NCES
20,000& x 4921 x 63 x 128 = 5,760
OB SA SESEX XY X =0l
20,000& x 32! x 5Y x 128 = 3,600
OX=oI2 XS0l HA
20,000& x 32 x 43 x 128 = 2,880
OEXASAEOl A8l
100,000 x 29! x 63l 1,200
203
AR =& 4,800 4,680 120
4,800 4,680 120104 EASE L RFKXH|
OB A29H Q10| 4t) 400,000 x 12& 4,800
204
RDasHA 24,600 23,400 1,200
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04

(2000) AbBIOHEH] 241 (2400) =KL XA ALSI NS &F:(2440) X & 22| Mg : (244 X2 NIAIE: (120) B & = I 2 Flle=:dE]

i = SIS == S i}
of &b o AF 2 ol =
.28 HE. HAE = Of & | = oA 2
bl
1,200 1,200 001 HMILRFAY
o # 100,000& x 121 x 128 = 1,200
23,400 22,200 1,200/03 SELR+HESH|
Otel sl 50,000& x 392! x 128 = 23,400
200 [= 3,800 = 0 Jl 0 = 0]
AR O] &F 71,180 103,692 A32,512| [S 0 = 0 X 0 Al 67,3801
210 [=2 3,800 =« 0 Jl 0 = 0]
S EAS 9,500 0 9,500/ [S 0 = 0 0 Al 5,700]
206
M=l 9,500 0 9,500 OXIH =&KX &l 9,500,000& x 1&l = 9,500
(=) 3,800
220
KERIAFS 61,680 103,692 A42,012
401
PSS 19,740 0 19,740
CHHl
19,740 0 19,740/01 Al & HI
O=2d e 98,700& x 2008 = 19,740
405
Aot S| 41,940 27,100 14,840
41,940 27,100 14,840(01 XL ESFHSHI
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[1)al

(2000) AbBIOHEH] 241 (2400) =KL XA ALSI NS &F:(2440) X & 22| Mg : (244 X2 HIAIE: (220) XEAIAHS 2 Flle=:dE]

t = PSTRE I == e Im]
O Ab oM o 2 ol =
X 2B MELMAIE = of & | = A 2
OEXIHH AZEEAIZ POA 3,300,000 x 1CH = 3,300
OsesyY 43| 9,800,000 x 3CH = 29,400
Ooxgtsr QLIH 1,540,000 x 6CH = 9,240
2442
X or2e 169, 185 250,921 A81,736
100
3 A0 A 41,500 43,000 A 1,500
110
S rals] 25,500 43,000 A 17,500
101
or24d| 25,500 43,000 A 17,500
25,500 43,000 A17,500(10 L AIAFSioI= Q!
OMEZAIXIIF ZAIRH
34,000 x 102! x 30 x 58] x 1/2 = 25,500
120
AN AH| 16,000 0 16,000
201
QB2 AH| 8,800 0 8,800
8,800 0 8,800(01 LEt2dd]|
OZzZe=2 2 HMA = 8,800
202
o4 HI 7,200 0 7,200
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& (2000) AFZIOHEEHI 24:(2400) FEARL XIS ALSIOHE & (2440) XI = 2tel NI (2442) X Dt 2 e| HIAIE: (120) 3 A X Z | 2 H| [ HH]

t = PSTRE I == e Im]
O Ab oM o 2 ol =
X 2B MELMAIE = of & | = A 2
7,200 0 7,200101 =LA Y|
OZ AKX EHAZAIS
20,0002 x 62! x 120 x 1/2 = 7,200
200
AR Ol A 127,685 207,921 A 80,236
220
XX A 127,685 6,300 121,385
201
U2 Y| 121,085 0 121,085
121,085 0 121,085|01 LBEt&dH]|
OgBi=2H| 121,085
o MEZAIXIDt 121,085

S 1L1DIE HESAMRIE BE =2

38,0008 x 240,000Z/64Z x 1.1 x 1/2

78,375

C701FE WEBAXD AE 242

5,700& x 6,0002 x 0.5 x 1.1 x 1/2

9,405

C2dME Eed
,

38,00

A
-
X

w 1
S
el

|‘jog Ol

x 0.5 x 1.1 x 1/2

3,135

L oleld HdeEs ==
2,0

38,000& x 2,

S

2 x0.5x1.1x1/2 20,900
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Z:(2000)AFSIJHEH] B (2400) =EH L X A ALSI JHEE BF: (2440) K & 2 2] MIE: (2442) XI Dt 22 MIKIEE: (220) RERIAFES 2 (oA
ok = 7S IS I == e m}
O]l At oH A = 9l =
I 2 S MIE L AIAIE =2 O]l &b o = A
KIJIAE 2 A=Sss CHANY 22 442
13,0002 x 6000H x 1.3 x 1/2 = 5,070
Xt ZEEX2 2= L HH2
1002/ x 240,00000 x 0.35 x 1/2 = 4,200
207
o Ao EH| 5,000 3,300 1,700
5,000 3,300 1,700(02 & AHH 4]
OMEZAIXIDb22] Al AE(PDA)
5,000,000 x 13 5,000
405
KA SH| 1,600 3,000 A1,400
1,600 3,000 A1,400(01 XA 2ZF S|
OMEZAIKIIL ZAIE2 PDA 800,0002 x 2CH 1,600
2450 [=2 0 = 0 2l 0 6,260]
OlZHEAIAA 384,120 30,310 353,810| [E 0 = 0 0 377,860]
2451 [2 0 = 0 7l 0 6,260]
LM Al 2H2 275,020 30,310 244,710| [E 0 = 0 0 268,760]
100
A0 A 29,380 17,690 11,690
120
A A 29,380 17,690 11,690
201
B2 A Y| 12,480 2,000 10,480
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ZH:(2000)AFSIOHERH]  2:(2400) FEHL XA ALSIOHE & :(2450) 0l AIA & HIE: (2451) M & Al 2te) HIAIE: (120) 3 A X Z | 2 FH][oe ]
2 = S i)
o & & At = 0 z
.2 HE. AME = of & ¥ o= A
12,480 0 12,480|01 LEt=SEH]
OA&&EHIR XY = 12,480
203
gL=4dl 3,000 3,000 0
3,000 3,000 0/04 PARI AR
O2AM&2gH|(15210l3dt) 250,000& x 128 = 3,000
204
HNE+HH 10,800 10,800 0
bl
1,800 1,800 001 HMGHR=AH|
og & 150,000& x 1¢I x 128 = 1,800
9,000 9,000 0|03 SHYR+HSSH|
ousl 50,000& x 15¢! x 128 = 9,000
301
YptB a3z 3,100 1,890 1,210
3,100 1,890 1,210110 AL HIE A3
OOIRIOIZAIH OHEHEZ As L WS
35,000& x 6021 = 2,100
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X (2000) ARSI BH:(2400) 3= EH S5t 5t (2450) 01 EAl A& MIBH: (2451)OhR & Al 2 2] MIAIEE: (120) 2 AR 2 2 (oA
oo ul N A = ol x
I 2 S MIE L AIAIE =] oH = A
OQNI32S HAL =& 200,000 x 53] = 1,000
200 [= 0 = 0 2l 0 = 6,260]
AH Ol & 245,640 12,620 233,020 [E 0 = 0 0 Al 239,380]
210 [=2 0 = 0 2l 0 = 6,260]
BXALY 12,520 12,620 A100] [E 0 = 0 0 Al 6,260]
201
UL A 12,520 12,620 A 100
12,520 12,620 A100
12,520
() 6,260
Nat=s 232
7,700,0002 x 18] = 7,700
(%) 3,850
X2 ¢ 1,600,000€ x 13| = 1,600
(%) 800
SAX DS 3,220,000 x 13| = 3,220
() 1,610
220
KERI A 233,120 0 233, 120
201
UL A 233,120 0 233, 120
233, 120 0 233,120(01 Lpted
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2 (2000) AFRIJHEEH] 2 (2400) ZEHL XIS ALS DR &F:(2450) 0l S Al A A KIgt: (2451) & & Al 22| NIAIE:: (220) KFAIAFS 2 HI][e:FHH]
t = PSTRE I == e Im]
O Ab oM o 2 ol =
X 2B MELMAIE = of & | = A 2
OdBt==H| 24,800
o MOt - OFAH BIRHCCTVAIE Z2=2Y 24,800
. EANEXNS HEARE 400,000 x 12& = 4,800
CRHAHEH B 20,000,000% x 13| = 20,000
OZ2222 2 HA 208,320
o MOt OfpF BHHCCTY HIH 229 208,320
C PLHREY 29 1,500,000 x 892! x 12& = 144,000
CdJle= 5,000,0002 x 129 = 60,000
N3 Rr=2 120,000& x 3CH x 12& = 4,320
2452
Ol = AID| B2 109, 100 0 109, 100
100
A0 AF 3,500 0 3,500
120
2 A A 3,500 0 3,500
201
QB2 AH| 3,500 0 3,500
3,500 0 3,500|01 LEt2AH|
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ZH:(2000)AFSIOHERH]  2:(2400) FEHL XA ALSIOHE & :(2450) 0l AIA & NIgt:(2452) 01 AIDIBF 2 AIAIE: (120) B & X 2 Flle=:dE]

t = PSTRE I == e Im]
o & & At = 0 z
X 2B MELMAIE = o & = oA
OdBt==H| = 1,000
Oz & i = 2,500
200
AR O AF 105,600 0 105,600
220
KA AFRY 105,600 0 105,600
201
QB2 AH| 5,600 0 5,600
5,600 0 5,600|01 LEt2AH|
osg9sE 5,600
0 Yl Q)= MAT=EZX [ Arg
70,000& x 209 x 43 = 5,600
207
o1 I EHH] 100,000 0 100,000
100,000 0 100,000|01 < 4|
Oogdl K)|s dATX B9 100,000, 000& x 13l = 100,000
N = & XA 15,605,599 20,000, 388 A4 ,394,789
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